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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

] 1. Fillin the blanks. (all) [1x12
IUYS 90 @Rl (A0)

(a) Indian economy is suffering from poor quality of

QIReID 28 M6 d&Q Gegeeal 6Q¢lq
R |

(b) InIndia, sex-ratio favours

QAUAER MRS @ QoI|

(c) Proportion of rural population to total population of India as
per 2011 Census is

900 ¢ (ALl PRUEIR QIR NRGER AN PR HIER
QIcER @I 2qdlQ |

P.T.O.



[2]

(d) First National Population Policy was announced in the year

~—

QUAOER YA QIFIL KR MG CIAL168 6qIm
cam! |

(¢) Small size of agricultural holding responsible for low agricul-
tural productivity is a factor.

Q¥ €9996aa 47 R 6dlqd 9¥a 98 QYIRS @
QAR eS|

(f) In India, rapid industrialisation was the main objective of
Five Year Plan.

QGR 26 AR EQIfe cUPRIR ASY
2l |

(g) When a labour doesn'’t get full time job or get job much below
his capacities is called

6606060 968 gfie QIR QIdY dlReel Fal fea

FRI0IQ QLY @4 QIdigIg @8elN QlRlg QeI
QQIdIN |

(h) Most of the labour force in India engaged in sec-
tor.
QURER 28 FFie 6YQEQ FUFE |
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(i) IniIndia, Green Revolution was first started in the state

QRO AR YL galed QAURIER 2R LRI |

(j) As per 2011 Census, the density of population in India is

900¢ AdQ PRASR 2RdIe VR RPL°HIRN UG

2ee' |
(k) unemployment are mainly shown in India.
RUAGER YMGS CRRIRT QENAIR QUS|
(1) is @ commercial crop.

@ MAIde adm |

GROUP - B

Answer any eight of the following questions within two to three
sentences each. [2x8
6AERET S gga 28R 6P 9@ Q G6RIG QRYER gL @a |

(a) What is secondary sector ?
Q9@ 690 @€ 7
(b) What do you mean by literacy rate ?

AFG! LI FLEM D€l QK ?

P.T.O.




[4]
What do you mean by unemployment ?
CORIRN QTEM @6l Q8 7
(d) Whatis industrial development ?
AsQuda ARId @€ ?
(e) Whatis underemployment ?
28 6901 QIPle QLI ?
(f) What do you mean by agricultural production ?
280 QQOR eLem @ Q8 7
(g) What is mortality rate ?

7104210 @61 ?

oA

(h) What do you mean by exploitation ?
65198 RL6m @8 Q€ ?

(i) Whatis land reforms ?
@f gedoe @€ ?

(i) What do you mean by GDP ?

671% F6QIR QYD FEM @€l Qa ?
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GROUP - C

3 Write notes on any eight of the following within 75 words each.

cA6HIEd S ggQ QA JeRIRy 986 4a FRIEA I @9 |
[3x 8

(a) Industrial Policy, 1948
R Y d8R1G

(b) Agricultural Finance
Q36RQ6a AdeR

(c) Population explosion |
R 6

(d) Technological unemployment
IR 6N

(e) Small scale industry
g 38

(f) ICT Policy in India
QLR ICT 6dieq!

(g) NREP

@O1D QITNE G498 @Idiac




[6]

(h) Age structure

QY QN

(1) Commercialisation of Agriculture
986 QEMRIRed |
(J) Localisation of Industries
d8 gORIRTIRR Y919 @adl

GROUP - D

Answer any four questions within 500 words each.
6A6@I9d ¥C gga @ea geIRg oo g9 ricq Q|

4. Discuss New Population Policy of India. (7
WA P PEA°M 216 ZISAISD @ |

5. Discuss the role of Agriculture in Indian economy. (7
Weea AdNE] §S6csga IR 2RISR Qq |

6. Describe various land reform Measures adpoted on India since
independence. [7
il el ARLER ged aaidiqes QA QAR 16T
AARES ZIEMISR @l |

7. Analyse the impact of green revolution on Indian economy. (7

WINGTE ALYl Ad6a 990 Geeq JUIR 2RISR @6 |
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[7]
g Discuss various problems of growth of unemployment. (7

QIRGER EQRIQT QRQ AYRUGFTR 2USRIOR! G4 |

g. Discuss various factors responsible for the growth of service sec-
tor. [7

6AE]LRN Q’gé AR QL AUARYER 2RISR FQ |
10. Discuss-various causes of inequality of income distribution.  [7

20 Q4R6A 2AFIRG! di Qo1 QIRHFR ZCAIER @a

APR.
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